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Sty A, i | B | (ke SRF) | e | e | wm | PEM (ED
30100 {fiu\:/u 60 3, 537 65 65 38 BH 60A
31100 H¥ 50 8, 856 1,836 1,728 1,728 B 51
31200 LB 216 22 22 22 BN 103
Y3015 7 X E 432 22 22 22 B 2071
31700 F ¢ 35 2,160 864 540 216 | B 411
31700 F ¥~ 160 13, 824 972 864 756 | B 164 — A
31800 1D FLAEL 29 9, 202 65 65 59 | BN 1473
31950 HAX 8 3,132 119 119 108 | &M 2748
31900 & 13 3, 402 540 119 119 | BA 13kg
36800 Hox x99 42 18, 684 540 432 324 BN 42kg
34400 k= k 52 13, 046 259 248 248 | BN 52kg
35220 X SROBIE 10 2,095 216 216 216 | B 10kg B
35300 E—2R 3, 780 1,296 1, 296 1,188 BN 3kg
35303 A F v TEZALD 2,592 324 324 324 | BN 8kg
Y3026 Aty7 EZ AL H () 1, 469 864 864 864 | |5 2kg
35402 AXEG. 10 12, 744 1,296 1, 296 1,188 &M 10kg
36200 EiHE 165 25, 326 173 140 140 | B 165kg
36600 7-FhE 76 10, 498 151 140 130 | B T6kg
33400 L& R 2] 130 43 43 13BN 3(E ]
33200 HYTTU— 13 3, 672 151 151 140 | B 2513
33300 Tuyal— 3 173 . 54 54 54 | B 3kg
Y3017 &k Y 2 2,862 1,458 1, 458 1,404 | B 2kg
Y3018 T H 3 864 108 108 108 | B 8T
41251 EIHM A 162 5 5 5 &M 301#
46108 I 2MI DN ER 73 74, 444 356 302 270 B 2443 7
71070 7Y —V7 1,944 14 14 41 BN 1504
71080 T A U & 972 22 22 16 | BP9 5074
71150 LiE 4,320 108 108 108 | B 40
71160 BF3E (¥) 4,320 22 22 22 BN 2007K > b
71161 46 () 1, 996 22 22 14| B 11278 v b
71228 HAK 216 216 216 216 | BA L3R
53456 1= 7N7RiE 1,847 324 324 238 | BN Tkg
Y3019 HoDY 7,560 1,944 1,944 1,836 B 4kg
Y5010 SbARE (F) 5,227 864 864 432 | BN Tkg
30100 7ZWVWZ A 54 2, 964 65 54 50 RS 544
30100 72W\WZ A B 10 216 216 216 216 | IR E 17—
30300 AZ 2L 60 8,532 1,512 1,512 1,296 |EEIR 5 64— A
30300 A% B 50 2, 160 43 43 3 ERE 50kg
31100 A3 75 6, 696 1, 404 1,296 1,296 | F & 54— R
33500 YT A K L 7 959 32 11 8 | k&l 7248
33810 FHRE3E 8 1,944 | 54 54 13 ERE 4045
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b e MR el &#H
a—F i itk | PER (kg) 2% (M) = i Sl £ (BAL)
37440 b 2 896 896 896 896 |E B 1r—=
Y3072 | RbE—Y —7 6 3, 240 54 54 54 | REAR 60%%
31700 F Xy 50 4, 860 972 972 972 IR E 54—
31950 H#X 2L 9 3,024 1, 080 972 972 | IR E 37—
31900 ¥ , 5 1,274 162 119 119 |EEIR B 103 (500g)
31930 ¥ M 3 324 11 11 11| K%y 3048
31930 ¥ S 3 648 22 22 22 | 304%
32800 26 5 2, 808 65 65 43 |'=E IR 505
34300 729 L 30 9,072 1,620 1,620 1,404 |REA 64—
34400 k= k M 4 972 972 972 972 |HEAR 1r—R
34460 I =L F & M 10 6, 739 151 151 130 RS 48,3y 7
34100 #fJK 30 7,776 1,296 1,296 1,29 EIRE 67— A
34100 K B 30 3,078 540 540 . 486 |E IR B 648
34100 |/ B M 20 5,508 -1,620 1,296 1,296 | &% 44—
34500 B —= 6 4,082 65 65 65 RS 6345
| 34520 Kb —< B L 2 972 972 972 972 |EEIR B 15—
36200 E&HE 3L 50 8,100 1,620| 1,620 1,620 RS 54—
37200 L x 9 A% 2L 8 3, 456 1,728 1,728 1,728 thE 24—
33400 L& R 2 1, 404 70 70 70| tLhm 2048
Y3096 T L ALY —7 6 1,134 43 43 2 BRE 3048
33600 St 0 43 22 22 22 | K5y 248
38100 AL W= 12 5, 832 65 65 32 B 12078y 7
31310 AT 4 1,296 65 65 65 | & [if] 2048
31500 /a3 12 2, 160 43 43 22 | EIRE 604%
32500  AHoIF 2 864 43 43 43 | K4y 2031
37560 BIIT 1 1,728 216 216 108 | K4y 10/%y 7
30910 IF5 4 via 1 378 38 38 38 EIRSE 1048
38400 2D EE 10 1, 404 17 17 11 | El% 1004
38521 SR LOHUE 6 1, 944 32 32 32 | 1@ 604
38604 TV UXH 3 2,916 97 97 97 & 3048
41480 L S 10 864 432 432 432 |EIR 24— A
42320 YaFrI—n K 10 5, 940 5, 940 5, 940 5,940 | HF & 1 —2
Y4017 H 5T 10 5,616 5,616 5,616 5,616 | #HZx 17 —2
49300 ¥ 4 T A— 5 3, 456 3,456 3, 456 3, 456 & [ 1 —=
L CE 7 1,490| 372,983 |
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